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Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page and also on the Answer Sheet given inside this
booklet.

2. This paper consists of fifty multiple-choice type of questions.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be gotreplaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will be
given.

(iii) After this verification is over, the Serial No. of the
booklet should be entered in the Answer-sheets and
the Serial No. of Answer Sheet should be entered on
this Booklet.

4. Each item has four alternative responses marked (A), (B),
(©) and (D). You have to darken the oval as indicated
below on the correct response against each item.
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where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I booklet only. If you mark
at any place other than in the ovals in the Answer Sheet, it
will not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the
test booklet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

9. You have to return the test question booklet to the
invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination
Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is NO negative marking.
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SOCIAL MEDICINE AND COMMUNITY HEALTH
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Father of medicine refers to :
(A) Susruta (B) Vesalius
(C) Hippocrates (D) Aescalapius
2. Early pioneers of immunisation were :
(A) Greeks (B) Chinese
(C) Romans (D) Arabs
3. The population of persons over 60 years of age in India is :
(A) Less than 6 % (B) 15-20%
(C) 40 % (D) Over 55 %

4.  The type of epidemiology which deals with risk factors of disease is :

(A) Descriptive (B) Analytical
(C) Experimental (D) Interventional
5. Correlation coefficient of 1 means that two variables have :
(A) Positive relationship (B) Negative relationship
(C) No correlation (D) Causation
6.  Incidence rate can be determined by :
(A) Cohort study (B) Case control study
(C) Experimental study (D) Descriptive study
7. The 1% person becoming sick in an epidemic is called :
(A) Primary case (B) Secondary case
(C) Contact case (D) Index case
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10.

11.

12.

13.

14.

15.

16.

Host in which parasite passes its sexual stage is called :
(A) Obligate (B) Facultatory
(C) Definitive (D) Intermediate

Fastest resistance causing anti-TB drug is :
(A) INH (B) SM
(C) Rifampicin (D) Ethambutol

In malaria, sexual phase of the agent is seen in :
(A) Anopheles (B) Culex
(C©) Man (D) P.Vivax

Hemolysis in malaria may be precipitated by :
(A) Sickle cell anaemia (B) G-6-P deficiency
(C) Sperocytosis (D) Cerebral malaria

The toxic agent in epidemic dropsy includes :
(A) BOAA (B) Ergot alkaloids
(C) Sanguinarine (D) Aflatoxins

Basophilic Strippling of RBC is seen in toxicity by :
(A) Chromium (B) Mercury
(C) Iron (D) Lead

Best diagnostic method for leprosy is :
(A) Droplet Smear (B) Skin Smear
(C) Culture (D) Lepromin test

Yellow fever is caused by :
(A) Flavivirus (B) Alpha virus
(C) Sinbis (D) Chikungunya virus

Among cereals and millets richest source of calcium is :
(A) Rice (B) Maize
(C) Bajra (D) Ragi

D —-8104 4
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17. The following are organophosphorus insecticides except :
(A) Fenthion (B)
(C) Chlorpyriphos (D)

Parathion
Pyrethrum

18. The most sensitive tissue to ionizing radiation is :
(A) Skin (B) Bone marrow
(C) Gonads (D) CNS

19. Heat Exhaustion is seen in :
(A) Textile industry & Gold mines (B) Lead factory & farms
(C) Farms & textile industry (D) Farms

20. Fluoridation of water is a method of :

(A) Limiting multiplication of viruses
(B) Preventing over growth of bacteria
(C) Decreasing bacterial population
(D) Preventing dental decay

Direction : Given below are some pairs in Q. Nos 21 to 33 : Select the correct pairs
21. Method of disease identification Coronary artery disease

(A) Report of symptoms 1.  Angina pectoris
(B) Physical examination 2 Cardiac arrythamia
(C) Response to drugs 3.  Hypertension
(D) Electrocardiogram 4 Life style
22.  The best way to schematically describe typical course of an viral or bacterial infection is
as follows :
(A) Infections 1.  Decades
(B) Susceptible 2. Years
(C) Latest periods 3. Lifelong
(D) Immunity 4.  Weeks
23. (A) Contagious disease 1.  Entry and spread of impurities
(B) Infectious disease 2. Result of entry and
multiplication of germs in man
(C) Pollution 3.  Transmission through direct contact
(D) Contamination 4.  Entry and spread of pathogens
24. (A) Health promotion 1. Case finding
(B) Specific protection 2. Case management
(C) Early diagnosis and 3.  Immunisation
Prompt treatment
(D) Rehabilitation 4.  Admission to blind school
D —-8104 6
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Germination
Mixing cereals & pulses

Parboiling

Pasteurisation

Robert Koch
John Snow

Edward Jenner
William Budd

Standard case management

Mass treatment for hookworm
infestation

Targetted treatment

Secondary prevention

Incidence rate

Prevalence rate

Cohort studies

Randomized controlled trials

Yaws

Lymphogranuloma venereum
Granuloma inguinale
Chaneroid

Endemic syphilis
Relapsing Fever
Lyme disease

Leptospirosis

Hepatitis A

Hepatitis B

Delta hepatitis

Non A - Non B hepatitis

~ W N -

—_

s

N

B W N R

@

Increase in Vitamin C
Increase in iron

Increase in thiamine content of
processed food

Improvement of protein quality

Typhoid fever
Pellegra
Small pox vaccination

Spread of cholera

Acute respiratory infection

No effect on haemoglobin values

Treatment with Hetrazan

Potable water supply

Suitable for providing causation

Number of new and old cases
occurring in an area

Useful to determine the best intervention

Number of new cases occurring

Chlamydia trachomatis
Trepanoma carateum
Trepanoma pertenue

Haemophilus ducreys

Human louse
Hard tick
Direct contact

Infected animal urine

Low mortality
Very high mortality
Diagnosis by exclusion

Has an animal reservoir
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32.

33.

(A) Bar diagram 1.  Quantitative data

(B) Histogram 2. Managerial tool

(C) Frequency polygon 3.  Line diagram from histogram
(D) Spot map 4.  Qualitative data

(A) Specificity 1.  Gold standard

(B)  Sensitivity 2. True negative

(C) Screening 3.  True positive

(D) Correlation 4.  Measure of correspondence

between two variables

Direction :Question below from Q. No 34 to Q. No 37 consist of two paired statements.

34.

35.

36.

Statement X (Assertion) and Statement Y (Reason), connected by term because
select the appropriate answer using the key given below :

Assertion (X) :  Tuberculosis has a long incubation period - Because :
Reason (Y) : Tuberculosis has chronic carrier state.

(A) Both X & Y are true, Y is the correct explanation

(B) Both X & Y are true, Y is not the correct explanation

(C) Xis true, butY is false

(D) Xis false, ButY is true

Assertion (X) :  Fixed virus in rabies is used in the vaccine - Because :
Reason (Y) : Fixed virus in rabies does not produce Negri bodies
(A) Both X & Y are true, Y is the correct explanation

(B) Both X & Y are true, but Y is not the correct explanation

(C) Xistrue, but is false

(D) Xis false, but Y is true

Assertion (X) : Mother & Child are considered as one unit - Because :
Reason (Y) : Child health is closely related to maternal health
(A) Both X & Y are true ,Y is the correct explanation

(B) Both X & Y are true, Y is not the correct explanation
(C) Xistrue, butY is false
(D) Xis false, but Y is true
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37.

38.

39.

40.

41.

42.

Assertion (X) :  Oral contraceptives are contraindicated if there is a history of symptoms
of thromboembolic disease - Because :

Reason (Y) : Oral contraceptives can disturb the harmone balance

(A) Both X & Y are true, Y is the correct explanation

(B) Both X & Y are true, Y is not the correct explanation
(C) Xistrue, butY is false
(D) Xis false, but Y is true

The three major leading causes of deaths in developed countries are as fallows. Find
the correct combination.

1.  Chronic obstructive lung disease
2. Heart disease

3. Cancer

4.  Accident

(A) 2 3 4

B) 1 2 3

O 1 2 4

(D) 1 3 4

“ Activated sludge” :

A) Is a rich culture of aerobic bacteria

Is aerated sewage without any bacteria

D

(
(B) Is a poor culture of aerobic bacteria
(
( None of the above

Q)
)

“ Nuisance mosquito” is :
(A) Anopheles (B) Culex
(C) Aedes (D) Mansonides

In maternal mortality rate, denominator is :
(A) 1000 Live births (B) 1000 Population
(C) 1000 Marriages (D) 1000 Births

Bysinosis is common in :
(A) Farmers (B) Textile industry
(C) Gold mine (D) Cement factory
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43. The majority of road traffic accidents can be prevented by :
(A) Using safety helmets

(B) Enforcement of law

(C) Avoiding alcohol while driving

(D) Safety education

44. National Institute for visually handicapped in India is situated at :
(A) Chennai (B) New Delhi

(C) Ajmer (D) Dehradun

45. FRU Stands for :
(A) Forward Referral Unit (B) First Referral Unit
(C) First Relief Unit (D) Foremost Referral Unit

46. The percentage of mother & children of total population in India is :
(A) 50 % (B) 55 %
(©) 60 % (D) 15 %

47. The WHO South - East Asia office headquarter is in :
(A) Bangkok (B) New Delhi
(C) Mumbai (D) Dhaka

48. Smoking has been implicated as a modifiable risk factor in all diseases except :
(A) Heart disease (B) Diabetes
(C) Cancer (D) Chronic lung disease

49. All of the following are examples of continuous variable except :
(A) Age (B) Diastolic blood pressure

(C) Deep tendon reflex (D) Blood glucose concentration

50. The predictive value of a test depends on all of the following except :

(A) Sensitivity (B) Specificity
(C) Prevalence of disease (D) Cost of the test
-00o0-
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49.
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